FE SR R SRR St ES

HIYERGER (FM74F7RE)

FERBRIIK ST BHITES

BlITR
ﬁﬁgn’ AR5 A M5
A i FAD [ #F K [ #TFAD [ #F KD
EREUG AR RIFEHF |[KETEHF — -
EEFEAH R7 7.22 [R7 7.22 - -
faRIEH R7 7.30 [R7 7.30 — -
SN mg./ L — — — -
e mg./ L - - - -
ida) mg./ L - - - -
7204 mg./ L — — — -
= mg./ L — — — -
FRIKER mg./ L - - - -
7ILFIIKER mg./ L — — — -
AIEEETIZIL mg./ L - - - -
>900X9> mg./ L — — — —
gtk = mg./ L — — — -
1, 2->7001%5> mg./ L — — — -
1, 1->7001FL> mg./ L — — — -
1, 2->7001IFL> mg ./ L — — — -
i, 1, 1-MNyOoIsy> mg./ L - - - -
i1, 1, 2-MNHYO0I5> | mg/L — — — -
NJooOIFL> mg ./ L — — — -
FhSoO00IFL> mg./ L - - - -
1, 3 ->/0070r> mg./ L - - - -
FIS L mg./ L — — — -
SNDD mg./ L - - - -
FARSHILT mg./ L — — — -
>t mg./ L — — — -
> mg./ L - - - -
(F53% mg./ L — — — -
A EA mg./ L - - - -
EES M R MU BEEEEZEZR| mg /L — — — -
1, 4->A%Y5> mg./ L — — — -
J00IFL> mg/ L — — — —
= FRIWT 15
HEas oA
FREUSPR £ _RURE
FEHFEHA -
fERIREH —
PILFIKERIEED mg./ L -
KERRUTIFIKIREOMOKERMEE | mg ./ L -
HRIDLKRUZEEY) mg./ L -
MRV EEY mg./ L -
B EEY) mg./ L -
FNMEIOLMEEYD mg./ L -
MRRUZDIEEY mg/ L -
ST ALEY) mg./ L -
AIEEETIZIL mg./ L -
N)oOOIFL> mg./ L -
Fhzo00IFL> mg./ L -
>J00X59> mg./ L -
IStk z= mg./ L -
1, 2->/7001457> mg./ L -
1, 1->/7001FL> mg ./ L -
cisil, 2->/00IFL>| mg/L -
i1, 1, 1-MNHO0OI5> | mg/L -
1, 1, 2-MNHO0I5> | mg/L -
1, 3 ->/0070%> mg./ L -
FI3 L mg./ L —
SIND> mg./ L —
FARIAILT mg./ L —
>ty mg./ L -
Lo RUZDILEY mg./ L -
(FIFRMUZDILEYD mg./ L -
SOFRKUZDIEEY) mg./ L -
TYESY. TYESOMean. BHmanRUEBan | mqg /L —
1, 4->A%H5> mg./ L -
v mg./ L —
ILRANFI RS EREEEESEE) | mg /L -
INRINFiESER@EmEESEE)| mqg /L -
J1/)-)\ESE= mg./ L -
EBE mg./ L -
Hinsh= mg./ L -
BRERERE mg./ L -
BERENICEBE mg./ L -
JOLEB=E mg./ L -
KESEER S —
Ex=h=E mg./ L -
a8 mg./ L —

1 f==TL O g — =k
BE TS5 2FvI5E t 2,92
FEEEEY) |- ?oj FYI5 YRl 2 1928 |
s IR A | 7874
< t/B 3.0
RN AR C_ |meE BT
v e SEHIRE C GAHH A EHGARTE
pCLIN =i - e s e i
HEZ—B bR SRERE ppm  [HEZRAO | @R
BHBREZEEVCARE £HH 202545425
AL AT 4R ng-TEQ/Nmi[2024#118188! 0.0000016| 4 1EXHf
sl €7 Nmi/h  [2025646R 168 0.2| 648 1[EIEHE
BEH A [(FVCA g/Nm  |20254671H 0.026] 68 1 @EHE
IR{bk3s mg/Nni__|2025%65 16 1.6] 677 1 E=HE
R ppm 2025%6A16H 145] 648 1 [E=EhE
ALl 11515
= 2 0L 4342 REANDB] ne|
%35 (No. 1) e | RSB B
i — R7 7.16
ez B RS NS O 4 e
& - EERU
- BEFHA - -
= I e !
BENS — —
£HH - R7 7.16
EKLT 0 et
X =R _ BELL
BEFHA - -
EKTERER oo e
LSRR EENS = Z
R #AE | -] .R7 716 ]
] e i — EERU
] NN EEERH — —
AESNEREE [ e
=2) BEAS — —
BHRILIRER 2
e HE
IR RS L
BB NS -
= = TIGHEKIE Rz F
BENUERRO | |[#80 AR
AoEMREE &R
o s s #E
REHREEREE [
BIE
s | o o s =
B35 (No. 2) RIS | AR | —
. EZH5 t /H 0
QE S I e
B VBIE -’E.CE.--- 0
52 LineC] t/B 0
= A< t /A8 . 0
" R Iz B R 5
B S RUBRT t/A 0
- PNEsE t/8 0
= (FNCA t /B 0
e RKFEHF
EmERB | — R7 7.22
fEREmER | — R7 7.30
1 S e —
FKO | BREEE| mS/m | |55 ] WSSEIE
EEwAVRE mg/L | — ] 7.9
TOMM FKSRERE| - — — F 1 [OHE
1A% 488 | pg-TEQ,/ L — (R7 6.2)0.020] 4 1[@=EHE
REUBAR | KBIFEAF
EmERB | R7 7.22
fERmER | R7 7.30
i ERCEX
7K Tk EE"_‘\’{BJ‘:“_'_ rl“.?.(.[‘? _________________ ;)_? _______________ WSTUNEIE
e BACMA AV IRE nj_g_f_l_____ ______________5_.6
= ot TkEREEE| & 1 O%H
1m J1A%348RE | pg-TEQ, L (R7 6.2) 0.023 F 1 [0t
thFKEE BEEAR | - ] —
1LEZEDZS BERNE — —
FEUgrr | BEIBE RO
EmERB | R7 7.14
fERmER | R7 7.22
pH (1 6.5
HURIK BOD mg/L | 25
COD | .mast | . 43
SS mo/L | .19
HOKBESCHEDIEBER] - = NEES
J1r+s4meE | pg-TEQ,/ L (R7 6.2) 0.33 F 1 [
RRIEURE m 0 | 27,529 | #1E5E&




